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1. KR F e SR e s DI :
(1) 23 +22y%2 — 722+ 3y +1=0, (2,9,2) = (1,1,1);
(2) (@2 + 2?4+ 22 —y? +Tay + 30+ 24 — 2 =14, (2,9,2) = (1,1,1);
(3) sin’z +cos(y +2) = 3, (z,9,2) = (%,%,0);
(4) 22 +y? = 22 +sinz, (z,y,2) = (0,0,0).

2. RTFFIhE AT 2 mPlZk:
(1) 22 +y?> + 22 =32, 20— 3y + 52 =4, (z,y,2) = (1,1,1);
(2) 2® +y* =10, y* + 22 = 10, (2,y,2) = (1,1,3);
(3) 3$2 + 3y2 - 22 = 257 {E2 + y2 = 227 (xayaz) = (\/?7374)§
(4) 23y +yie =3 - 2%y?, (2,y) = (1,1).

3. KR FIR B TE L, FFAIBTRE B ARG R, A AR A

(1) foy) = *sine = 2), (2) S@y) = cos(a + ) + sinla — y),
(3 f(a.) = v, (@) f(a,) = afy oy,

(5) f(z,y) = (az® +by®e > V", (6) f(z.y) =ye .

4. KRB R AR

(1) f(z,y) = 2yp/1 - & — %, a,b>0;



(2) f(x,y) =sinz +cosy +cos(x —y), 0<r <5, 0<y<T;

(3) f(z,y) = wylog(a® +y?), z,y #0.

KRB R E IR A

(1) fla,y) =4z —y) —2® — (2) flz,y) =2+ (y —1)%
3) fla,y) =2 +ay+y? +x—y+1, @) f(z,y) =2 +y> — 3ay.
CRIMMILE y =2 HEHZE ¢y -2 =0 ZRIEEESE.
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